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Pabora yyactnuka c id zasBku 1265129, norunom inf24f 267

CBOILHbIﬁ NTOTr 110 BCEM 3aJavYaM B HpOBepﬂmmeﬁ cucremMe

Run ID Time User name Problem Language Result Tests Score
68 0:31:48 inf24f_ 267 1 python3 0K 28 100

157 1:04:09 inf24f_ 267 2 python3 0K 28 100

601 3:45:31 inf24f_ 267 3 python3 Partial solution 27 96
429 2:51:54 inf24f 267 5 python3 0K 22 100
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[1] def get_tetra(length=30):

[2] t = [8] * length

(3] £[3] = 1

[4] for i in range(4, length):

[5] t[i] = t[i - 1] + [ - 2] + t[i - 3] + t[i - 4]
[6] return t

[7]

[8]

[9] def is_search(a, t):

[10] k1 =@

[11] ans = ""

[12] for i in range(len(t) - 1, 3, -1):
[13] ifoa >= t[i]:

[14] # ans += "1"

[15] k1 += 1

[16] a -= t[i]

[17] else:

[18] pass

[19] # ans += "B"

[28] return k1 % 2 ==

[21]

[22]

[23]t = get_tetra()

[24]1n = int(input())

[25]m = @

[26] for _ in range(n):

[27] if is_search(int(input()), t):
[28] m += 1

[29] print(m)
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[1]

[2]

(3]

[4]

[5]

[6]

[7]

(8]

[e]

[1e]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[2@]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[4e]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[5e]
[51]
[52]
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[6e]
[61]
[62]
[63]

import fractions as frct

import sys

sys.setrecursionlimit(16080)

def func(t, d,
global i

level):

for k in range(8):

if t[i]

== "Q" .

i+=1
func(t, d, level = 8)

else:

try:

d[t[i]] += frct.Fraction(1l, level)

except KeyError:

pass

i+=1

def convert(f):
if f == 0

print{@.0)

return

if f==1:

print(1.8)

return
print("e.",
level = 2
while f I=

end:uu)

a:

if f »= frct.Fraction(1, level):
print{1l, end="")

£ -
else:

= frct.Fraction(1l, level)

print{@, end="")
level *= 2

t = input()
d = {"W": frct.
"R": frct.
"0": frct
"¥": frct
"G": frct.
"C": frct.
"B": frct.
"WV": frct
"D": frct

}
if t[e] = "Q":
print(t)
print(1.8)
else:
i=1
func(t, d,
#print(d)
1st = []

Fraction(®),
Fraction(@),

.Fraction(®@),
.Fraction(@),

Fraction(®@),
Fraction(®),
Fraction(®@),

.Fraction(@),
.Fraction(@)

8)

for k, v in d.items():
lst.append((k, v)})
lst.sort(key=lambda x: (x[1], -ord(x[8])))

#print(lst)
print (lst[-

1][e])

convert(lst[-1][1])
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[1]

[2]

[3]

[4]

[5]

(6]

[7]

(8]

[9]

[1e]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[20]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[4e]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[5e]
[51]
[52]
[53]

from math import inf

def e2dec(s):
if s == "[]":
return @

def

ans =

<]

level = 1

i
k
a

1
[1

len(s)

while i > @:
# print(i)
while True:

a
i
k

for 1

try:
digit = d[s[i - k:i]]
break

except:
k +=1

.append(digit)

i-k
1

in range(len(a) - 1, -1, -1):
ans += al[i] * level
level *= 12

return ans

dec2e(x):
if x ==
return "[]1"
if x == 12:
return "§))"
ans = []

while x != @:
ans.append(x % 12)

x f/= 12
flag = False
for i in range(len{ans)):
if ans[i] ==
if not flag:
ans[i] = 12
flag = True
else:
ans[i] = 11
else:
if flag:
ans[i] -= 1
flag = False

return

""_ join{g[ans[i]] for i in range(len(ans)))



[541 d = {"[1": @,

[55] "it:o1,

[56] it o2,

[57] "i(("r 3,

[58] "It o4,

[59] "I(": 5,

[ee] "I((": 6,

[61] "7,

[62] "3y g,

[63] "It 9,

[64] "sv. 1p,

[65] i)' 11,

[66] "$))": 12,

[67] ¥

[68]

[69] q = [II[]"J "i"J "i{") "i((uj "I"J "I("J “I((") "]")
[7e]

[71] n = int{input())

[72] 1lst =[]

[73] for i in range(n):

[74] s = input()

[75] lst.append([i + 1, e2dec(s)])
[7e]

[77] min_w = -1

[78] min_i = None

[79] max_v = inf

[88] max_i = None

[81]

[82] for i in range(len(lst)):

[83] if min_i is None:

[84] min_v = 1st[i][1]

[85] min_i = lst[i][@]

[86] else:

[87] if 1st[i][1] < min_v:
[88] min_v = 1st[i][1]
[89] min_i = lst[i][@]
[9e] elif Ist[i][1] == min_wv:
[91] min_i = max(min_i, lst[i][@])
[92] if max_i is None:

[93] max_v = 1lst[i][1]

[94] max_i = lst[i][@]

[95] else:

[96] if 1st[i][1] > max_v:
[97] max_v = lst[i][1]
[98] max_i = lst[i][@]
[99] elif 1st[i][1] == max_v:
[1e@] max_i = max(max_i, lst[i][@])
[181] if max_wv == min_v:

[182] min_i -= 1

[183] if min_1 > max_i:

[184]

min_i, max_i = max_i, min_i
[185] print(dec2e(min_1i))
[186] print(dec2e(max_1i))

n])n, u]})uJ n:inJ

"3, "INt
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[1] #print(chr(33), chr(126))

[2]
ED

[4] def is_norm(a, b):

[5] for i in range(33, len(a)):
[6] if a[i] < b[i]:

[71 return False

[8] return True

(21

[1e]

[11] s1 = input()

[12] 52 = input()

[13]

[14]a = [®] * (126}
[15]1b = [8] * (126)
[16] for e in s2:

[17] blord(e)] += 1

[18]
[19]pl = ©
[20]p2 = ©

[21] a[erd(sl[@])] += 1

[22]min_1 = len(s1l) + 1

[23] ans = None

[24] while pl < len(sl) and p2 < len(sl) and pl <= p2:

[25] while not is_norm(a, b):
[26] p2 += 1

[27] if p2 == len(sl):

[28] break

[29] alord(s1[p2])] += 1
[38] else:

[31] if (p2 - pl + 1) < min_1 and pl <= p2:
[32] min_1l = p2 - pl + 1
[33] ans = (pl, p2)

[34] alord(s1[p1])] -=

[35] pl += 1

[36]

[37]if ans is None:

[38] print()

[39] else:

[48] print(sl[ans[@]:ans[1] + 1])
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